1/od%/ dp™dy"™ [LGeV]

Ratio to ATLAS

=
<
I

T =
o
N

-
o
@

107

[EEY

0.5

13000 GeV pp tt
:|_ T I T I T I T I T | T I T I T I T I _|: 9
— — =
— top . . = )
— pT (ATLAS semileptonic ttbar) 43
| —H=
| m ATLAS _| S
--G-- Herwig++ 2.7.1 default N
= —— Herwig++ 2.7.1 UE-EE-5 39
—~ --g Herwig 7.2.1 default 1
| . N — "G—J‘
L .=
o
- =
o™
— <
o™
©
— 49
— —-]0m
[ —{
— =
- <
S,
B e
(&)
—— =
— o
= 40
| 1w
N ]9
o
— )
| | | | | | | | | | s
= =2
1
— —0.5
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000

pt"* [GeV], [y in [0,0.7]



	Contents
	Page 1


